%1 2 AR R NEAERREE RS NG

Je R e 2=
1 AW Sf2E1H26H (H) WRPAT
2 =Y Wi AR e G EE A - e Lt L O R =2 — R
kAR IC 2253 <T1,

3YMHDAR

TWE4 575 WiARTERE LGRS - £5

*100mAF— MPEEDEERZ VR

8IF0 04y ®TFf

8MF0 04y YEfmiER) (—K W-UP)

8Ifd 04y HEiERH#

85 04y BHEK

OKIFL—AB IO KEZIZW-UP D7D L7V,
Of&X#%. £8 W-UP Blta1 2,
OW-UP 1INy 7 A ML — h&2fEHT 5,

OWE3 54y KIFL—A « AHX— |

10KF0 0% BUs - A& — |
[FRERZ B X O ESAT]
OKIFLV—Z : BEAKTHET<~100maT—/v

T

OF1X: 9409 ~100mAX— Mk
OFE2KX : 9HE50%~100m=a—/L{iE
OFE3X: 1000 ~100mIa—/Lfif
OF AKX : 10055 ~100mIaT—/Lfifr
OFESX:10HE10%5~100mIa—/Lfif
OFE6X:10H15%~100mIa—/Lfik

1 2K;4 04y PASR (FE)
* 2EBNMENET,

AF->TN L HD
OQa=R—5L -« « BHAENEZT V¥ YVa=mk—24r, XUVIIEH,
KEEINTHENET, 704 =027 —2"bIUTHELTTFE W,
OF4E - - - BIKIIK

OFv=vFoa—X. « « HETTIEENT-HD

OUVA v RTLb—H—Ud—~v—+ + « FEIGK
OR& - kAHM

5% D

(1) BFlfioRELLTOZMTT, BoThb, ATFTH, WL —R%
LELZXI,

(2) L—x2H, BHIBENTOREBIITXErA, A¥ U REFITZa—2 |
TIELEL X 9,
(3) AREBICETIMONEDLEI, Fid~ZJHEK L 7ZE,
T 090—3102—9446

A BB AR AR K E R



